EARAROBEEIERT — 2 N— IBISH —F

20155E586H (k) 3EIEZHZE3H

mﬂﬁC 74# C7 ¥5%—M (xwlw | lmEmml - |5 5) wom 8
[AE£] 1% 145,000 ~ 2%&:26,000 ™  33%&:10,000”  4%&:7,000H ~ 5%&%:0MH
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
KIBAEE :30. —4-3- . — FHERE (BHE)
11515 Y4 —2—TA k H o4 &% = 1(%))5 3-4-3-1 38.0 1 (4_538) =
Rig—s——4 Bivs—8—JU—> Bk Bk
[T SHEKX :30. -1-1- . — BREX (BHE)
2 6 2L Ky 4 6 54.05 1 (310)7 1-1-1-2 | 38.6 3 (4:321) =l
RL:ZARN=3I>Fh—L BNTFEZR=Ux RS
= P o — B 5 | HWIHEA 1:30.8 4-2-2-3 [38.6| — 2 432 | HROFEE (BHE)
3|8/9|71—777=— 54.0 (172) PR
LikTA4 T B:TUERLT ITHILTERI AN
FLILE— : -3-3- — ROEE (BHE)
alzl7|2VT7U—7 i 8 o 1.(372).2 2-3-3-4 | 39.7 4 ;1:)15) o
L:77)—h BITRANITY ks
— LS # o6 | BRR— 1:32.5 6-5-5-5 |39.2 | — 9 468 | FIUEE (BHE)
EH 3 AT TR 56.0 (11/2) (+4) AHERF
R:Za—-qA>952 K B2y /xY 7 -5
— S # o7 | FRRE 1:32.5 5-6-8-8 |38.8| — 7 480 | T2 THEE (BHE)
6l1|1|TNT7Y>ar 56.0 (NF) © | .0 <27y
RN—YTF4 BALIY+—Ib HET7—L
Sa e th R : —8-7- - Bria—A (BEE)
7 o | Y HFLRU—L 4 5 s 1.(3;,).4 8-8-7-6 | 39.7 5 (i?ﬁ) 72 (
L:ZxhT A BUFITRY—L KE &—
5 B4 | RARFAER 1:33. 7-7-6-7 |39.7| — 8 392 MIA— (BEHE)
slglg|¥7/ V-7 540 (7€) @) | B K=257
X THANAN BE2TI1>7 BN
NI 4 5 | AKEH 1:34.1 9-9-9-9 |40.2| — 6 498 Woh— (BEHE)
EH 4TV v Fa— £54.0 3) ) | B) £=257
L:79%t% B:wLZXTvia ITEILTZIAL b
® I—F—@EBIERL
13—7F— 6,7,5,9,1,3,8,2,4
Ao=5"= 6,9,7,5,3,1,8,2,4
T =35r= 6,9,(5,7).,3,8,2,1,4
41—F— 5,6,9,7,3,2,8,1,4
[ RN
B R 5 1400 | [ 74 K 5-6 2201 | | # = 5-6 1,240/ | | 3:&48 5-6-9 320/
% B 5 110 5-9 10| | BB & 5-6 1,120 | | &8 5-6-9 1,740M
6 140 6-9 280M B H 5-6 1,440/
9 1009

ABICOVWTRDTEEERROODE. TR LIV,




